EREFKAOEZTRER  RILMET

S 6 &F 3A X EERIZSEA
= )=| Al )|
3B1H 2B1H B A B
= pes i s = & g s 2 pes s e
313 365 678 592 326 364 690 604 A 13 1 A 12 A 12
8, 382 8, 438 16, 820 1,887 8, 381 8, 458 16, 839 7,893 1 A 20 A 19 A 6
8,695 8,803 17,498: 8,6408| 8,707: 8,822: 17,529: 8,426] A 12: A 19 A 31 A 18
(RESTHE 71) (RESTHE 71) (MESHE 1A L)
EmAO A0
EHEMH = & s EEE : & ns
) BRMS 19 12 31 ~ BRA 24 16 40
. A iz H
Bam5 9 13 22 BaA 10 18 28
o4& 2 1 3 & © 8 11 19
ZDih 0 0 of Zoit 0 0 0
& &t 30 26 56 & &t 4?2 45 87




